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Find the value of y in the given Rl g3 (g)gta Sy dad )

parallelogram.

A y+8

y —

y =8+4 // //
y p— Sy



ML) sjlgio Llgy Parallelogram angles

Find the value of x in the given amall £SLEY (Slsha 2 X Aasd 2l

parallelogram.

2x — 1 =175 ! .

2x =75 + 1 \1050 \{Zx—n"

_2x=76 - i

°c x=76+2 x = 52 .
® =238 x =38 s



Which of the following ?&)I...hi Silgha sa Al Ass il BLAN ‘51

quadrilaterals is a parallelogram?

—E

i




Quadrilateral DEFG is a rectangle. -ibiesas DEFG L0 AL AAL

If FD — 3X — 7 and EG — X + 5, (EG = X+ 5 3 FD = 3X — 7 J\s13)
find EG. -EG
o ‘ . .‘ ..‘
M@UJM - 5=
Olalaia
3x—7=x+5 " .

o 3x—x=7+5

o 2x = 12 ) .b
x =12+ 2

X =6



Quadrilateral ABCD is a rhombus. -O=a ABCD =0 gl

If AB = 14, find BC. .BC 225l ,AB = 14 s )3)
A 14 B
<6/
BC =14
D C
7 a
6 b
14 .C



Quadrilateral ABCD is a rectangle.

Ifm-s1 = 40°, find the measure

of 2.

Jabaisall (8 (il Sl L5 )

D

22, uald 4%_9? cams1 = 40° Sis 1a)

R 70
PN L 72 1
L2 =

90 -40 = 50 &

50°

40°

90°

20°



Quadrilateral WXYZ is a square. &= WXYZ s Jsal
If WT = 3, find ZX. ZX aagl (WT — 3 s 13)

gl b o kil

X w

DAY Lagie S Caaly il
T

WY = 6 ZX =WY '
ZX = 6

Y >4
O 9 .a
O 3 b
O 1.5 C




Find the measure of 2L in the oLl Cdsasall and (B ZL eld aagl
trapezoid below.

C&mﬁd\ngLuﬂA 9 F;Ld"kyi

. J = K
;ﬁgu:loslcug\gﬂjj
LL = £1M 6 6
_ 80~ ¢
2L = 80 x4 - L
40° .a
80° b
100° .C

50° .d



Which of the following statements s o ) ) (4 ¢

15 always true?

UWLL’M y(gm*ﬂ &lssa | b

The parallelogram’s diagonals are perpendicular

Colliaia Judaiiaal) Jyhas

The rectangle’s diagonals are congruent.

The rectangle’s diagonals are perpendicular.

O alatia /dﬁa Cnall |yt

The rhombus’s diagonals are congruent.



Find x and y so that the @=Ll JSAEN O Gnan Yy o9 X eled aagl
quadrilateral below is a -&:ﬂ...’af SHilssa slaal

parallelogram.

7x = 56 0y =26 =4y -

- 4

e (5y — 26)° — — ]
x=56=+7 SOy 4y =26

x =8 s y = 30

- 4

O X =56, y= 124

@) x=8, y=124

O x =56, y= 30



{0,1,2,3,4,5}

Use the roster method to write the

set of natural numbers less than 6.

A5 pana S ualiad) €3 Ak aadiul
6 oF JB (A Al 2y

{0,1,2,3,4,5}

{1,2,3,4,5}

{0,1,2,3,4,5,6}

{1,2,3,4,5,6}



Which of the following statements

CAasaua A Cjlad) (o

is true?
de gara (gl (e diija de gana L0
0 € {3} Adbla 5 jlad) . . . a
Gl I (Al ey fag (S Y
43 5 jlal) ds gaall A Bagage £ 8
{8} € {5,10} b
43 3 jlal) s gaall A Bagage s
{a, b; C} e {al b} .C
5 € {5} ZAJM 5 yland) d




Let A={3,69,612} A=1{36912} ;3

b S id jelal | AndB=(2,4,6,8,10,12,14). ‘B =1{2,4,6,8,10,12,14}
6,12 Find ANB. o sl b (5, S0a)AS il jualiad) sa aditizyy -ANB
(3,6,12 )

{6,12}

{6,12,14 }

{12,14 }




Which of the following sets paldall o g giald a0 Sl ganall (g
contains the elements 2 4, and 67 694 52

{x|x€E s x > 6}

L8]

0n o8] 233 e 20 {8,10,12,14,16,...} .

6 {xjIx€e Eand x > 6}
Cra B (295 o 2 (x|x €E_, x < 6) {2 4} b
© {x|x € Eand x < 6} / .
On Bl rds) s 10 (xIx €E,x<7)

’ x|x€Eandx < 7} {2,4,6} Fo

O 235 i 2 Ix €E. x> 2)

2 (4,6,810,12,..} -

{x|x € Eand x > 2}



Mad) daata Laat o glhaall Choose the Venn diagram that (AU B)' ¢k il Venn (3 hhia i)
S gaaal) shows (A U B)' shaded. A,

P AUB
<' Ladial) (588
l— - O gaaall 7 A
A,B

o)

A G 8
] n :l (1]
/
e u
n

w
n




